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A7

ASZ2HEA V327 = 1.808 , V32.7 = 5.718 & T, T}& & 27
F O kel

O 327 = 18.08 @ V0.0327 = 0.01808
® +0.327 = 0.5718 @ 3270 =57.18

® /32700 = 180.8

‘ 1 1
@ 4/ T 4 3.27 = 0 V3.27 = 0.1808




3. 3<x<-29u ViZ+6x+9-2VxZt+dx+4+ Va2 & F5}

H?
D -2x-1 @Yox+7 ® -1
@ 4x+7 ® 4x-1

VO -2 /GF I+ VE

=|x+3|-2|x+ 2|+ |«
=x+3+2x+4—x
=2x+7




O (x+3y-1)(x=3y+1) @ (x+3y+1)(x-3y-1)
(@)(x—l—3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(&4 = {(x-1)+3y} {(x-1) -3y}
=(x+3y-1)(x—-3y-1)




5. {xl300<x<600 xE A5} o tiske] V3x vx 7F o] a7t H =

= St= A5 x o HFE FohH?
D)5 7 @ 5274 ® 10074
@ 10174 ® 301 74

VEx yE = V3x 7 0] A% 1), 3y £ AEL7} Holof sl
o ), x = 3k3(k £ 24A%) o]},
300 < 3k% < 600 & 100 < k2 < 200
k2 =102, 112, 122, 132, 142
x 0] A4 5 7




6. (x-2)x>-3(x-2)x-10(x-2) & AFE3N5tH?

@ (-2 (x-5) (x +2) @ (x-2) (x+5)(x+2)
® (x=2)(x-5)(x+3) @ (x-2)(x+5)(x-2)
® (x=2)(x+5)(x-13)

B

A=x-22 X5y
(x=2)x* -3 (x-2)x—10(x—2)
= Ax? - 3Ax - 10A

= A(x? - 3x - 10)
=A(x-5)(x+2)
=(x—-2)(x-5)(x+2)




& 2™} o] 720 Aot x, A&
o7}y <l AAFZHE ABCD Be] Fols  Ac
o] JAHZ+e ABFE ¢ EGHD & Z#h
ok g2 AP Bge] Hols x ok y 7t

P

@ x @y ® x+y

A1Z+d ABFE, EGHD £ AHAMZ go|lBg




